Multiply by Positive Powers of Ten (E)

Find each product.

3x100 = 53 x 10 =
24 x 10 = 97 x 10 =
49 x 100 = 44 x 10 =
70 X 100 = 13 x 1,000 =
82 x10= 2x100=
46 X 100 = 39 X100 =
31 x 100 = 90 x 1,000 =
28 X 10 = 16 x 1,000 =
35x 10 = 4% 10 =

27 x 1,000 = 2x%1,000=
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Multiply by Positive Powers of Ten (E) Answers

Find each product.

3 x100=300 53 x 10 =530

24 x 10 =240 97 x 10 =970

49 x 100 = 4,900 44 X 10 =440

70 x 100 =7,000 13 x 1,000 =13,000
82 X 10 =820 2x100=200

46 x 100 = 4,600 39 X 100 = 3,900
31 x 100 = 3,100 90 X 1,000 =90,000
28 x 10 =280 16 x 1,000 = 16,000
35x 10 =350 4 x10=40

27 x 1,000 =27,000 2x1,000=2,000
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